MATH 110 Final Exam Review Key

Please note—only the final answers are provided here.  However, you will be required to show ALL WORK on the final exam (where appropriate.)
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2.   (x + 4)(x – 3)

3.   a)  x = 0, x = 
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        c)  x = 
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d)  x = 0, x = 3, x = –3

4.   9 cm. and 12 cm.

5.  a)   {x | x is a real number and x ≠ 4}        OR           (–∞, 4) 
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     c)  {x | x is a real number and x ≠ –2 and x ≠ 5}            OR              (–∞, –2) 
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 (–2, 5) 
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     d)   all real numbers            OR             (– ∞, ∞)
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                              12.   x2 + 2x – 4 
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13.     2x2 – 4x + 11 
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               14.   a)   no solution       b)   a = – 3      c)   x = – 5
  15.   
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16.   The speed of the express bus is 42 mph and the speed of the local bus is 35 mph.

17.   9.9 miles




18.   7.2 hours




19.   
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20.   a) domain = 
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24.   Rational and Radical equations could have extraneous solution.  

        For rational equations, check to see if the solution obtained causes any of the denominators of the original  

        equation to be zero.  If yes, then the solution is extraneous.  

        For radical equations, the potential solutions must be substituted into the original equation and the equality  

        should be tested numerically.

        In both cases, a graphical check using the original equation would also serve to expose extraneous 

        solutions.

25.   a)   
[image: image42.wmf]i

2

2

+

-


b)   
[image: image43.wmf]i

2

6

+


c)   
[image: image44.wmf]i

10

24

+


26.   a)   no solution

b)   x = 2



27.   a)   x = 0, 
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d)   x = 27, 
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28.   exact:   
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29.   8.53 hours
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31.      a)                                                         b)                                                       c)   
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33.   3 seconds, 144 feet  

34.  a)   quadratic         b)     
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        c)   18.26  births per thousand people






























_1034508430.unknown

_1034585483.unknown

_1297080540.unknown

_1297080956.unknown

_1303568026.unknown

_1303568043.unknown

_1297081567.unknown

_1297080847.unknown

_1107699878.unknown

_1114614454.unknown

_1177761399.unknown

_1295876752.unknown

_1114614535.unknown

_1107699923.unknown

_1034586736.unknown

_1034591683.unknown

_1034591904.unknown

_1107166144.unknown

_1034591725.unknown

_1034591567.unknown

_1034591635.unknown

_1034585616.unknown

_1034510219.unknown

_1034585265.unknown

_1034585298.unknown

_1034585235.unknown

_1034508936.unknown

_1034510217.unknown

_1034510218.unknown

_1034508961.unknown

_1034508764.unknown

_1032842406.unknown

_1034507435.unknown

_1034507494.unknown

_1034507522.unknown

_1034507458.unknown

_1034497832.unknown

_1034506494.unknown

_1034506552.unknown

_1034499914.unknown

_1032842407.unknown

_1026027727

_1032775787.unknown

_1032842234.unknown

_1032842276.unknown

_1032842301.unknown

_1032842256.unknown

_1032842205.unknown

_1026028401

_1026028622

_1032775767.unknown

_1026028534

_1026028306

_1026027658

_1026027704

_1026027599

